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| HFT - I/PART - I
919 e ©d RIS/ CHILD DEVELOPMENT AND PEDAGOGY

Fder : Frforee geat & gov @7 % g qag afEad ey g

Direction : Answer the following questions by selecting the most appropriate option.

1. faivaeen § S @ 98dr a1 3 e
AGTF 2

(1) SAPERen

(2) Tt e

(3) SIS HET

(4) THEEF FFeR FHET

2. UF 9% b ARG o FHAH &
sl T el § @ - gif

3. UF BT & @I & vy ¥ Frefaied
¥ Jo77 FAF BE-ar & 7

(1) @ syl aftrm & aRafid
Bt 21

(2) FaT e e B

(3) 5AF AT § TH W& Jol B ¢ |

(4) AT & FEI ¥ AR S B

4. uAfeT R § o @

(1) afrTa Prearstl & | Hel-5e
¥ QU FE

(2) afFrE Rraet & e Fer-we
4 QU &

(3) A Praett #t fafdme et
q Q0 FHEA

(4) ARRFR Rl #@ e W SR
e QU HT |

Level-3/165

1. To cooperate the adolescent it is
essential to
(1) Inspire
(2) Indicate his mistakes
(3) Criticise him
(4) Do negative behaviour

2. Which of the following is not a
suitable technique used by teachers
for socializing the child ?

(1) Direct teaching

(2) Identification

(3) Democratic discipline
(4) Over-protection

3. Which of the following is a wrong

statement about emotions of an

adolescent ?

(1) Emotional ' expressions are
modified by learning.

(2) Emotions are permanent.

(3) Every emotion is accompanied by
a feeling.

(4) Emotions are aroused by external
stimuli.

4. Inclusive education means

(1) Meeting individual differences in
general classroom. :

(2) Meeting individual differences in
different classroom.

(3) Meeting individual differences in
special schools.

(4) Meeting individual differences in
home based instruction.

P.T.O.
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feeen # @er 9 ek W oged
& 99 qgdr §

(1) R

(2) Hrar-far #r

(3) w-|mEr #

(4) T@rE

BEl § Sfow gt & vt w9 A R
fran s we B, AR erene

(1) SRS gt & a1 B
(2) @I I T A |
(3) Wer =Rl @ FEiwar g |
(4) E-gareT F AT F2 |

fdaeems T afde & 3 dran ofx
Pl fwh w0 § gems B, o @

() 9 9T F&H BT

(2) St e, Reoww, e ok
frrepd foaprer |

(3) FB I FW AR i Hean

(4) wicke & RfEt & R s
iR AR wmEl gm fedi @

ZgeR % gary fafy &
(1) =T (2) STEEE
(3) W= (4) TS

frfofed & @ @9-ar Resiaen §
qrEToTE Qe & awe 787 & ?

(1) 399 99 TqF B F GHT gl
B

(2) faudia foim & ufey amrdor &
(3) Wt gEgr F Wl F A

(4) fafree Rl 7 o @

Level-3/165

(4)

In adolescence behaviour and attitude
are affected mostly by

(1) Teacher

(2) Parents

(3) Peer Groups

(4) Films

Moral values can be effectively
inculcated among the students when
teacher

(1) Frequently talks about values.

(2) Himself practices them.

(3) Tells stories of good persons.

(4) Talks of Gods and Goddesses.

Critical thinking helps a person in
developing abilities and skills for
(1) providing concrete experiences.

(2) proper interpretation, analysis,

evaluation and inference.
(3) creating and
something.

constructing

(4) thinking about ways of reacting.

Best method of dealing with adolescent
by parents and teachers is

(1) Autocratic (2) Permissive

(3) Democratic (4) Restrictive

Which of the following is not a
characteristic of social development in
adolescence ?

(1) Active member of their peer

group

(2) Being an attraction towards
opposite sex

(3) High  decrease in friendly
relationship

(4) Extension of special interests
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10.

11,

12.

13.

. 14,

% BRI o S &Y d F Fa g
S @ AW o fergen, 39 R &
HTT B

(1) FGTE TR
2) s JFger
(3) A e

(4) gt e a9t &

G SR TR i

(1) g8 a9 8
(2) Tl & e e @

(3) & g (8d) g A

(4) T T

‘G R AWh g (CCE) &

R B

(1) Faq aF B qHA B TEHHA
FHE

2) R & qft @ & e T

(3) @ad B & T H TeAiHT B |

(4) FaA B Pl THH B TEAIDT B |

Frfafe & @ P96 g S90S

P fadwar (Fraan) 787§ ?

(1) e

(2) A

(3) g

(4) I

ftrm wfee A @
(1) 9% % FEer & & awn qRe |

(2) R @ R GREE ¥ oftgdg)
(3) WIegaR] F GRHSH |

(4) WETAR] B T S|
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(5)

10.

11.

12,

13.

14.

A

An adolescent uses her/his left hand
for performing act like taking food or
writing, this is developed due to

(1) Inherited behaviour

(2) Developmental behaviour

(3) Wrong behaviour

(4) All options are right

Discalculia is a problem related to the
problem of

(1) Speaking accurately
(2) Writing
mistakes

without committing
(3) Listening message properly
(4) Doing mathematical calculations

Continuous and  Comprehensive

Evaluation (CCE) aims to evaluate

(1) The reasoning of child only.

(2) All aspects of development of
child.

(3) The knowledge of child only.

(4) The understanding of child only.

Which of the following is not a trait
(ability) of a creative child ?

(1) Elaboration
(2) Originality
(8) Accuracy
(4) Novelty

Learning outcomes means

(1) Change in the behaviour of the
student.

(2) Change in teaching method of the
teacher.

(3) Recognization of the
matter.

(4) Completion of content.

subject-

P.T. 0.
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15. € @ e g @ aar @ 7

(1) =2 3 59 % g9
(@) AvEEEr F ARE

(3) freMEen & ARm
(4) JF@EET B A

Y L O g g
ﬁﬂﬁgﬁﬂﬁﬁﬂﬁ-wmﬁa’qﬂaﬁ
7ere ?

(1) Il Araarett & e BT a9 |

(2) JUgH gl A Al Iuder
ST =ife |

®3) ﬁﬁ%ﬁ(ﬁ)mhﬂml
(4) AR IfvErd e =ifen

16.

framdt & @ry, Ry =y A uEifE
Pl & @y #d F@ g T ofw
TR ?

(1) STHFHS IITH
(2) YSIAi=E IYFHT
(3) wled 3y

(4) Y IUFTH

AR FEE WeEql g @
e &t &

(1) 9% & qEaHS Gy 5

17.

18.

(2) 9% & gMI e o
(8) 9% & GTONS oy ®
(4) qTF & T fawmg §
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(6)

15.

16.

17.

18.

Differentiation of 'emotions takes
place at the time of

(1) Birth of child
(2) During infancy
(3) During the period of adolescence

(4) During adulthood

Which of the following provision is
not
differences among learners ?

suitable to meet individual

(1) Their abilities should be assessed.

(2) Adequate facilities and material
should be provided.

3) Labelliﬁg them. _
(4) Making Individualisation necessary.

Working with
particularly maladjusted one, which is

adolescents,

notf appropriate ?

(1) Critical approach

(2) Democratic approach
(3) Collective approach

(4) Ideal approach
Heredity plays most important role in
the

Emotional development of the
child

(1

Social development of the child
(3) Physical development of the child

(4) Cultural development of the child
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20.

21.

22,

T S FEE B e drE & R
P AFHY NEETF ©, FiD

(1) 300 oA T @ § wewrd
foreret &1

2) TRgEE # UEE S H e
forerclt B 1

(3) TRTEE # W@ qd 4 quEe q
Hea e @ |

(4) 3EQ G99 P F9d el o |

yR @ wde @ frefeied |
q Pl fadwa 7@ R 7

(1) faemar  (2) aege
(3) Il (4) AT

Rfifed Faey @ Fefieg § @
- e ¥ 7

(1) BE & WA & A A,
Freps Freprer SR otae Fremst &

g HE |
(2) 9 agis, aEdEE R T 2

(3) AE OHRE A BRI W
MG BT 8|

(4) B ‘TE' I F qALT & |

Prefafag & & P9 AW & TH
geeRE® AN uauika s & maiEE
fom 2 7

(1) | %
(2) A9 & E|
(3) SR & 1
(4) TR & fFEm
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(7)

19.

20.

21.

22,

A

The
learning is must for a good teacher,

knowledge of principles of

because
(1) It helps in maintaining discipline.
content

(2) It make

interesting.

helps to

(3) It helps to understand the content
by simple methods.

(4) It saves time.

Which of the following characteristic is
not correct about objective type testing ?

(1) Reliability (2) Objectivity
(3) Validity (4) Subjectivity

Which of the
characteristics of

the
constructivist

following is

classroom ?

(1) Students
draws conclusions and compare
their findings.

design experiments,

(2) Knowledge is objective, universal
and complete.

(3) Teacher transmits authoritative '
knowledge to students.

(4) Students look for the
answer.

'right'

Which of the following is the primary
law of learning propounded by
Thorndike ?

(1) Law of analog&
(2) Law of exercise
(3) Law of assimilation

(4) Law of disposition

P.T.O.



24,

25,

26.

27.

(1) e Rrremes arafy
(2 ﬂﬁﬁlﬂﬂ?ﬁaﬂfﬁ
(3) Td-Frarers arafy
(4) 3F=g T ey

TH AITH H GO H @ S 2,

HFEHE Iuay I= R oqwr qEhTE

fepra @1 WX FeIR 2, 98 e @

(1) <R P Iy

(2) 0 i ST

(3) Ffe T

(4) 999 I Jafads oraw

q& ARG AFTE &3 St Fhdl SEEr

F AT W, FRRE N aw a9
@ # 999 A 8, FEar ¥

(1) s (2) AR

(3) afgfy (4) SRR

F® T T A A emEE @ aeEn
8 T ¥ it o 9=y

(1) 3= &g (1.Q.) et B

2 AMF afer A.Q) &t ¥

(3) |iaf @y (B.Q) &t ¥

(4) Smeifers ey (S.Q.) B B

ferpre wrIe: R & ofT 9 v emrey
BRT B, e @ 7z R e &

(1) faured § wwysd

(2) MAFFERE (T & Tt i o)
(3) 9 ¥ ffdre

(4) B
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23.

24,

25.

26.

27.

According to Piaget the child is able to
apply logical thoughts to all classes of
problems, this development occurs in
which of the following periods ?

(1) The formal operational period

(2) The concrete operational period
(3) The pre-operational period

(4) The sensory motor period

A child is average on creativity, high
in academic achievement, poor in
social development. This is an
example of

(1) Inter individual differences

(2) Intra individual differences

(3) Individual differences

(4) Measurable individual differences

That internal state of mind that
directs

behaviour is called as
(1) Interest (2) Opinion
(3) Attitude (4) Motivation

arouses, and maintains

Some people adjust easily with new
people because they have high

(1) Intelligence Quotient (1.Q.).

(2) Academic Quotient (A.Q.).

(3) Emotional Quotient (E.Q.).

(4) Spiritual Quotient (S.Q.).
Development generally proceeds from

head to foot, this principle of
development is called

(1) Bilateral to unilateral
(2) Proximodistal

(3) General to specific

(4) Cephalo Caudal



28.

29,

30.

o B A gher @ fou e aism
FT @ B IE A ¥ IW o8 3%
M I AIeTEEReT 39 @ aer B B
zqea o ®

(1) o= ST

(2) & SO

(3) TP Ien

(4) I Tor &l 9o

aftrmeal dfed SUrH @ @R |
fortfofae & & o 99 7T E T© °

(1) T8 el @ Aradien, e
A et A @ S @ 2|

(2) T8 SN, EaT ok @ &
e I 99 Tl 2|

(3) T8 HAUH E SR Bl S
T GT 9 ol 2 |

(4) e STHASTY-STH, THEAT-HHEM,
G- F gem-aE
S RftEl # wEr Fa B

F Rl @ Wae T oEwr T

il a9 T= & FGEER B

Fed & 7

(1), HATERIHRT

(2) LT

(3) STEIHTT

(4) T

(9)

A

28. A student is working hard for Board

29.

30.

Examination, his father has promised
to give him a motor cycle if he gets
good marks. This is

(1) Intrinsic motivation
(2) Extrinsic motivation’
(3) Mathematical motivation

(4) Intrinsic and extrinsic motivation

- Which of the following statements is not

correct about learner centred approach ?

(1) It takes into account learner's
capabilities,
learning styles.

capacities and

(2) It stresses the importance of

enquiry, and

investigation.

(3) It emphasises
knowledge to the learner by the
teacher.

observation

transmitting

(4)

It uses methods like experiential
learning, problem solving, concept
mapping and creative writing.

A child's attitude 'I do not care' is a
type of behaviour which can be
called

(1) Aggression
(2) Defence
(3) Denial

Level-3/165

(4) Retrogression



(10)

T - IVPART - II
AT - 1 (f7=) / LANGUAGE - I (HINDI)
ﬁfw:ﬁ%@awﬁimé&#mmaﬁaﬁwﬁm

31.

32,

33.

34,

35.

T [T &1 gt
(1) v = g + Mg

(2) JHAHER = J8d + g1
@) " =99 + &
(4) 9 = €7 + Sy

‘A’ g § BE-Ar g9g T P ?
() 7 (2 T

3) ¥ (4) ¥

Te BRT W B BT T A - % fo
TF 9 g

(1) STeHET

(2) SmETd

(3) SRl

(4) STT=RIAT

S AR o W § e @ -
% fore @ g B

(1) gfear

(2) v

(3) MUl

(4) QAT

Mt o=l & & @9 9= ‘@g R ?
(1) T

©2) famE

(3) THEIET

(4) YT

Level-3/165

36.

37.

38.

39.

I g oo @ F & grer wg e
39 a B @8 i B

(1) STE~ b
(2) BT YA

(3) Hiewy Y

(4) ST T

o o afemrfeq &= & T & gom
B - % R gw a= B

(1) H=AgA

(2) A

(3) AT g

(4) FHAYT

g o= § W @ gfe d Rafe @
™ e 7

(1) g

(2) F=d

(3) @&y

(4) @R

e o= & A 5o @ 5 gm s
q 7 g R 7

(1) FHoredr

(2) @t

(3) Ut

(4) HrE



40.

41.

42.

43.

A4

4 @ @ gE gl 3™ AW H
oI 9e G I

(1) T

(2) 9™ ¥d

(3) STE 9

(4) Gy qa

T B gfe | U o= A8 7
(1) =8

- (2) HgaTER G

(3) feasrer

(4) g

P-A I ‘T F EEAE 78 e 7
(1) HEs '

(2) fafdrEme

(3) @M

(4) faRrg

A’ = B FEl A &
(1) T6 + 7

@) T6 + A

3) T5 + 9@

(4) M+ 7

(1) A+ g

2 A + g9aX

(3) AFT + =X

@) AR + e
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45.

46.

47.

48.

49,

Bt A1 ‘@ @ e & gfe 7 R
(1) STEIHTOT-SHY

(2) HEWTO-TE

(3) STEIHTOT-3TeY

(4) HETITOT-3TEY

TR 9 H IgH HE H T
L

(1) Fadan qgsy

(2) eiar TgeT

(3) Tt HIEH

(4) =gdi agew

7% @ T dw s — Wied &
fore @t e @ =FEE FII

(1) TEME F o I faasmn

@) 7, A, TS B e @A o ®
(3) ITELEE aEget § & UM

(4) et F TEET ¥ %F S

Iua T 9= ®

(1) g

@) g
(3) TAH

(4) faar
o7y faed & g
(1) -3y

(2) IHI-TIHA
(3) IHEe-THe

(4) STIUT-TET

P.T. 0.



TobeTe’ fore o @ g 2
(1) o7t
(2) I
(3) S
(4) =i

50.

%I' e
®M % U 3 9= & =97 #¢

(1) =

2 9=

(3) TF

(4) T

e s= ° Fiarg e & @ T8
g & 7

(1) FaER

(2) S

(3) shrenfs

(4) FeaHte

Bl = T yfeerT @@ a7
(1) e

@) g

() =m

(4) sIfFar
f;amaﬁ‘ﬁﬁﬁaﬁramm 787 gaT
5

(1) THHSH

() R

®3) gaReT

(4) T
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51.

52,

53.

54.
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55. ofgfe A AT 9= Eifey

(1) =EE®
2) it

(3) HiEfeH
(4) oA

[R39r : e =T & wew 37 9T R
$8 77 g7 (797 G 56 9 60) F v Hov -

ﬁﬂﬁ@%ﬁﬂ%ﬁ@@ﬁﬁ%ﬁim
T A g T e ¥ oW 3wy
R & Al T g €

MF dieaelt # FRwm grEEEl @
oy Sufel & & & o A B AR G
%awﬁlqﬁTHﬁaﬁaﬁﬂa%Gﬂ
af aen & By B Red 3 @ o= 9
s o i P SR ST e @ Ry
e e & ®Y § gEA o ol qeEn

HEE Y glefs o a1 oge @i

faar <= P Ao g2 @ fg s @
I o9 IR @ W ger @ e
EEY-HEIEAY H Gl WG H (eTIaE goTel
F E 99 11 TAR B H BT are e



R B gl AN H i G e ge
gl TR Sy 7§ gad R # ol & a9
M e oEET o ge W e F 2
TR | oA FUT A & | AXAE T [

% 3 3@y wHfed & M f6 3% gug WA
& wq | 3@ q49q e |

9¢ e & ARG W # G B0 o
Ffl qadE B BiHE Je Siedl B AN IYE
g & o ddFe Wiy B JEEE g @ |

g SREEERl & FIER AR B T

¥ g o1 o9 wwel & Reedwer i aieren
o7 | qREes IR uftei & FE T dn
I FE ORI & T W FP S
gt et g3 R gufom & e A
A @ B

T 7% @ B fF onia @ Fp o
WoUell # @iEEen g6 IeE TS WY T
AT WY B Y | W] R # i
g fEHa & T W TS ofid B Heal
el T TF qeF G| 99 T 8| &
Rreet ol o0ex S YN 9 o90 @ J9 g °
Mok G991 & T a1 B o 3 9 B B
QO Pl ARG SR GEgER GRAM  HE
o oMaEE & UG IEH [ A ¥8 § f wa
H 3E A e [ S

56. W GH I fadwar &
(1) gR WORER
(2) W f
(3) WU & A uREdH
@) & e o @

(13)

57. M g R & ¢
(i) ETEH TRE &
(i) TN TERE &
(iii) aof FTET F
(iv) it fower gReTT &
sfed I e @l g
(1) () T (@Qv)
(2) (i) T (iv)
(3) Pa (iid)
(4) HIW (ii)

ARG I ToiasE ToTar &l ofaaH fear
1) A (2) FE A
@) FOH I @) G

58.

foysedor & s &
(1) e
@) fer
(3) =R
(4) #Hiewr qeq

59.

60. WE=AMT WG § dfes few 2

(1) smgfer

(2) YLYU B AT

(3) oFId & HeaR § Gl HT
(4) e AR FoeA
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HIT - III/PART - 111

9T - 11 (3{3R)/LANGUAGE - 11 (ENGLISH)
Direction : Answer the following questions by selecting the most appropriate option.

61.

62.

63.

Choose the correct passive form of
the verb in bracket in the given

sentence :

I suddenly realized I (watch).
(1) am being watched

(2) have been watched

(3) am watched

(4) was being watched

I must finish this.

The underlined word in the above

sentence indicates

(1) Necessity

(2) Determination

(3) Wish

(4) Habit

Choose the correct suffix to form the

word. The meaning of the word is

given :

Level-3/165

64.

65.

66.

‘I don't enjoy going to the dentist.’

The word 'going' in the above

sentence is a/an

(1) Present participle
(2) Infinitive

(3) Perfect participle

(4) Gerund

Choose the correct indirect speech of

the given sentence :
Mother said, "Don't go to the park."

(1) Mother asked us not to go to the

park.

(2) Mother told us not to go to the

park.

(3) Mother said us not to go to the

park.
(4) Mother said to us to not to go to

the park.

Which of the followirig expression

means 'extremely happy' ?
(1) be a basket case

(2) fall off your perch

(3) be off your trolley

(4) on cloud nine



67.

68.

69.

Choose the correct passive

construction of the sentence :

Auctioneers will sell the painting at

auction.

(1) The painting would be sold at

auction.

(2) The painting will be sold by the

auctioneers at auction.

(3) The painting will be sold at

auction.

(4) The painting wﬂl be selling at

auction.

Identify the figure of speech in the

following sentence :

I must be cruel, only to be kind.
(1) Epigram

(2) Paradox

(3) Analogy

(4) Metaphor

Which of the following words is mis-

spelt ?

(1) incongruous
(2) chronological
(3) synchronus

(4) sympathetic
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Direction : (Q. Nos. 70 to 74) : Select the

sentence that is grammatically correct :

70.

11

72.

(1)

(2)

3

4)

1)

(2)

3)

(4)

(1)
(2)
3

4)

My brother is the student in
Mayo College.

My brother is student of Mayo
College.

My brother is a student in the
Mayo College.

My brother is a student in Mayo
College.
Neither of them were present

there.

Neither of them was present

there.

Neither of them present there.
Neither of them are present
there.

The roses smell sweet.

The roses smell sweetly.

The roses are smelling sweetly.

The roses are sweetly smelling.

P.T.O.



73.

74.

75.

You certainly did not ought to do
it.

(1)

@)

You certainly ought not to have
done it.

(3) You certainly did not ought to
have done it.

(4) You certainly ought not to have
been done it.

.1

(1) Who was the book given to ?

(2) Who the book was given to ?

3

The book was given to who ? .

(4) Whom was the book given to ?

Choose

transcription of the word 'Locate’

the  correct phonetic

(1) /uket/
(2) /Nokeit/ _ W
(3) /Nou'keit/

(4) /louket/
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760 Choose the correct direct speech of

77'

78.

the given reported speech :
He said I'd better go because it was late.

He said, "You'd better go because

1)

it's late."

(2) He said, "I'd better go because it

was late."

(3) He said, "You'd better be gone

because it was late."

(4) He said, "You'd better go because

it was late."

Which of the following

correctly ?

is spelt

(1) Pediatrician
(2) Padritician
(3) Pedaitrician

(4) Pidiatrician

In which of the following sentences do
we need to insert the definite article

‘the’ ?
(1) They are all busy growing things.

(2) We do not generally speak of

farmers 'growing animals'.
(3) Why do people work ?

(4) They are different from rest.



79. Which of the following sentences is

correct ?

(1) My father's foot was put down
when I said I wanted a car for my
seventeenth birthday. He said I
was too young.

(2) My father down put the foot when

I said I wanted a car for my

seventeenth birthday. He said I

am too young.

(3) My father put his foot down when
I said I wanted a car for my
seventeenth birthday. He said I

was too young.

(4) All options are wrong

80. Since you were not there, I left a

message with your sister.

The underlined group of words in the
above sentence is a/an

(1) Noun Clause

(2) Adverb Clause of place
(3) Adverb Clause of time
(4) Adverb Clause of reason

Direction : (Q. Nos. 81 to 85) : Read the
following passage and answer the questions
by choosing most appropriate option :

Common sense is a rare and enviable
quality. It may be truly said that ‘its price is
above rubies’. How many learned men, how
many wits, how many geniuses, how many
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.

dull and ignorant people, how many cunning
knaves, how many well-meaning fools are
without it ! How few have it, how little do
they or others know of it, except from the
infalliable results — for one of its first
requisites is the utter absence of all

pretension.

The wvulgar laugh at the pedant and
enthusiast for the want of it, while they
themselves mistake bigotry and narrow
minded notions for it. It is not one of the
sciences, but has been well pronounced to be
'fairly worth the seven'. It is a kind of

mental instinct, that feels the air of truth

~and propriety as the fingers feel objects of

touch. It does not consist with ignorance for
we cannot prohounce on what we do not
know; and ‘on the other hand, the laying in
of a stock of knowledge, or mastering any

art or science seems to destroy that native

simplicity and to warp and trammel the

unbiased freedom of mind which is

necessary to its receiving and giving their

due weight to ordinary and casual
impressions.
81. Common sense is a rare and enviable

quality because

(1) Its price is above rubies
(2) All learned men have it
(3) All men are without it

(4) Very few have it

P. T. 00



82.

83.

84.

85.

What is not a requisite of common
sense ?

(1) the utter absence of all
pretension

(2) bigotry and narrow minded
notions

(3) truth and propriety

(4) an unbiased freedom of mind

Which of the following is not stated

by the writer in the passage ?

(1) Affectation destroys common
sense.

(2) Common sense requires the
utmost simplicity and sincerity.

(3) Common sense feels the air of

truth and propriety as the fingers
feel objects of touch.

(4) Common sense destroys the

native simplicity and warps and
trammels the freedom of mind.

Fill in the blank with the most
appropriate word :

Common sense has been well
pronounced to be ‘fairly worth the
8EVeN iaiiinnianninn

(1) Notions (2) Sciences
(3) Talents - (4) Wits

Which is not a synonym of the word
'pedant' ?

(1) dogmatist

(2) formalist

(3) perfectionist

(4) down-to-earth

(18)

Direction : (Q. Nos. 86 to 90) : Fill in the
blanks with the most suitable option :

86. ... child should learn to read and

(1) All (2) Every
(3) Whole (4) Both
87. Can I ask your ........... , do you think
TV violence is harmful ?
(1) opinion (2) favour
(3) question (4) advice
88. Where is my wallet ? I left it .............
the kitchen table.
(1) at (2) in

(3) on (4) by

89. Take some medicine and the pain will

8O0 cviiiiiinnn
(1) back (2) off
(3) out (4) away

90. The walkers finally arrived at their

destination. They ............. all day, and
they certainly needed a rest. They ......
thirty miles.

(1) had been walking; had walked
(2) had walked; had been walking
(3) walked; walked

(4) have been walking; had walked
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20.
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10.

1.

12
13.

14.

15.

16.

17.
18.

19.
20.

Answers to questions in answer sheet are to be given
by darkening complete circle using Black/Blue ball point
pen as shown below :

O e 0O ©

The answer will be treated wrong, if it is marked, as
given below :

@ ® © @

If you fill more than one circle it will be treated as a
wrong answer.

. Rough work should be done only in the space provided

in the Test Booklet for the same.

. The answers are to be recorded on the OMR Answer

Sheet only. Mark your responses carefully. No whitener
(white fluid) is allowed for changing answers.

. Out of the four alternatives for each question, only one

circle for the most appropriate answer is to be darkened
completely with Blue/Black Ball Point Pen on the OMR
Answer Sheet. The answer once marked is not allowed to
be changed.

The candidates should ensure that the Answer Sheet is
not folded. Do not make any stray marks on the Answer
Sheet. Do not write your Roll No. anywhere else except
in the specified space in the Answer Sheet.

Handle the Test Booklet and Answer Sheet with care, as
under no circumstances (except for discrepancy in Test
Booklet and Answer Sheet Serial No.), another set of Test
Booklet will not be provided.

The candidates will write the correct Number as given in
the Test Booklet/ Answer Sheet in the Attendance Sheet.

Candidates are not allowed to carry any textual material,
printed or written, bits of papers, pager, mobile phone,
electronic device or any other material except the Admit
Card inside the examination hall/room.

Each candidate must show on demand his/her Admit
Card (Roll No.) to the Invigilator.

No candidate, without special permission of the
Superintendent or Invigilator, should leave his/her seat.

The candidates should not leave the Examination Hall
without handing over their Answer Sheet to the
Invigilator on duty and sign the Attendance Sheet twice.
Cases where a candidate has not signed the Attendance
Sheet second time will be deemed not to have handed
over the Answer Sheet and dealt with as an unfair means
case. Female candidates have to affix right hand thumb
impression whereas male candidates have to affix left hand
thumb impression on the OMR answer sheet at the place
specified which should be properly inked i.e. they should not be
either over inked or dried in nature.

Use of Electronic/Manual Calculator is prohibited.

The candidates are governed by Guidelines/Procedure
given in the Information bulletin, all Rules and
Regulations of the Board with regard to their conduct in
the Examination Hall. All cases of unfair means will be
dealt with as per Rules and Regulations of the Board.

No part of the Test Booklet and Answer Sheet shall be
detached under any circumstances.

On completion of the test, the candidate must hand over
the Answer Sheet to the Invigilator in the Room/Hall.
The candidates are allowed to take away this Test
Booklet with them.
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